L=220 W=4._5

A=1030 L=394m A=173




05

5 10 1

@

10




01

K0005
1
X309010
1
5,000m3 SQ001-0001
190 m3 1
0.8m3( 0.6m3) SQZ002-0001
5.5km DID « ) 190 m3 2
SQZ003-0001
190 m3 3
X512005
1
150mm 1 SQ150C-0001
M-40 1,030 m2 4
( )1 50mm
(13) 200t SQ155C-0001
3.0m 2.35 1,030 m2 5
t=4 B0007
70 m2 1
X309145
1
t=15 B0005
394 2
t=7 B0O006
173 m2 3




X108215

1
15¢m S0Z185-0001
35 6
15¢m S0Z184-0001
1,100 m2 7
( 15cn ) $S0Z101-0001
6.5km  DID ( 54 m3 8
« ) $9910-0001
54 m3 1
X201010
1
B0003
1 4
P0000001
H03701
1
« )
H00803
1
Q00910
1 @
HO0600




Q00601

@

HO0500

Q00501

HO00400

00401

Q00402




1 B (B0007)
t=4 10 m2
)1 40mm
(13) 200t SQ155C-0002
3.0m 2.35 10 m2 9
SQ149-0001
10 m2 10
P0000001

P0000002




2 B (B0005)
t=15 100
12.5cm 17.5cm SQ033-0001
( ) 30 m2 11
24-8-20( ) $Q102-0001
4 m3 12
SQZ104-0001
30 m2 13
30m2 t=10mm $Q092-0001
0 m2 14
( )
mm  SD345 $8400-0001
10t 0 2
P0000001

P0000002




3 B (B0O006)
t=7 100 m2
» -« )
18-8-20( ) $1424-0001
(-1<=H=1 W 100 3
» « D
- $1425-0001
100 4
C0001
7 m2 1
P0000001

P0000002




4 B (B0003)

(13) 200t SQ155C-0005
1.4 3.0m 2.35 12 m2 15
t=4 €0002
20 m2 2
P0000001

P0000002




1 C (C0001)
10 m
L0002
R6.3  P190 kg
TR0200
70000010
P0000001

P0000002




2 ¢ (C0002)
t=4

10

m2

)1 40mm
(13) 200t

SQ155C-0006

1.4 3.0m 2.35 10 m2 16
SQ149-0001
10 m2 10
P0000001

P0000002




(59910-0001)

(

m3

T#0001

P0000001

P0000002

10




(58400-0001)
(

)

mm  SD345

(10t ,
TT8100
( 345)
13 TT0673
03
P0000001
P0000002

11




(51424-0001)

- (
(-1<=H<=1

W,

) 18-8-20(

)

100

TR2500

TRO200

(
(18 -20)
(8 )

47

S1401-0001
5

T#01

P0000001

P0000002

12




(51425-0001)
(

)

100

TR2500
09

TRO200
31

T#O1

P0000001

P0000002

13




(8

(51401-0001)

)

(18 -20)

170921

TT0900

P0000001

P0000002

14




1 (SQ001-0001)

5,000m3
( )
(D) (D)
[ ]
TMC118P
TR1400
TT0002
1

[J1] =1 [J2] = 1

[J4] =2 [J5] = 1

[J6] = 3 5,000m3 [P1] = 1 - -7

15




2 (S0Z002-0001)
0.8m3(  0.6m3)

(5.5km DID . C ) )
() (%)
) ) TM1011P
TR1500
TT0002
1

[1] = 1 [32] = 1 0.8m3(  0.6m3)

[33] = 1 ( ) [J41=1 DID DID

[J5] = 8 5.5km [P1] = 1 -1- -13

16




3 (5Qz003-0001)
m3
Q) ()
TT0456
TR1400
TT0002
1
[01] = 1 [P1] = 1 1- -20

17




(SQ150C-0001)

M-40

)

150mm 1

m2

()

Q)

TMBO31P

10

2.1

TMB610P

TT0422

TR1400

TRO100

TRO200

TR2500

18




4 (SQ150C-0001)
( ) 150mm 1 m2
( M-40 ,
() €)
TT0512
TT0002
C )
]
[J1] =7 M-40 [J4] = 150.000 mm
[J5] =1 1 [P1] =1 -1- -4 11

19




3.0m

(SQ155C-0001)
)1

50mm

2.35)

(13) 200t

m2

()

Q)

TT0477

TT0422

TT0415

TRO200

TRO100

TR1400

TR2500

20




5 (SQ155C-0001)
( )1 50mm (13) 200t m2
( 3.0m 2.35)
() €)
TT9109
34 TT7022
TT0002
C )
]
[J2] = 50.000 mm [ zmm] [J1] = 4 3.0m
[A1] = 11 (13) [J4] = 3 PK-3
[yll] =2 As ( ) As 200t / [y2] =1 As
[P1] = 1 -1- -2,8

21




(SQZ185-0001)
15cm

()

Q)

TM4735P

TRO100

TR2500

TRO200

TT0090

TT0001

22




6 (SQZ185-0001)
15cm
D) (D)
1
EJl} =1 - [J2] =1 15cm
P1] =1 -3- -1

23




(S0Z184-0001)

15cm
, )
() (%)

TT0460
TR2500
TR1400
TR0200
TT0002

[J2] =1

[J4] = 4 15cm

[P1] =1 -3- -2

24




(50Z101-0001)

( 15cm )
(6.5km DID . ( ) )
() Q)
TM1011P
TR1500
TT0002
[J2] = 3 ( 15¢m )
DID DID [JA] = 4 6.5km
-2-25-1

25




3.0m

(SQ155C-0002)
)1

40mm

2.35)

(13) 200t

m2

()

Q)

TT0477

TT0422

TT0415

TRO200

TRO100

TR1400

TR2500

26




9 (SQ155C-0002)
( )1 40mm (13) 200t m2
( 3.0m 2.35)
() €)
TT9109
34 TT7022
TT0002
C )
]
[J2] = 40.000 mm [ zmm] [J1] = 4 3.0m
[A1] = 11 (13) [J4] = 3 PK-3
[yll] =2 As ( ) As 200t / [y2] =1 As
[P1] = 1 -1- -2,8

27




10

(SQ149-0001)

m2

()

Q)

TMBO31P

10

2.1

TMB610P

TT0422

TR1400

TRO100

TRO200

TR2500

TT0002

28




10

(SQ149-0001)

m2

()

Q)

1
[J1] =1

[P1] =1

1- -2

29




11

12.5cm
)

(SQ033-0001)
17.5cm

m2

()

Q)

TT0456

TRO200

TRO100

TR1400

TR2500

L0001

TT0002

30




11 (SQ033-0001)
12.5cm 17.5cm m2
)
Q) ()
(
1
[J1] = 3 12.5cm 17.5¢cm [J2] = 6
[P1] =1 -2- -2

31




12 (50102-0001)
24-8-20( ) m3
( )
() (%)
TR0200
TR0100
TR2500
« )
24-8-20( TT0928
1
1] =1 [J9] = 3
[N1] = 11 24-8-20( ) [35] = 2
[J7] =2 [N2] = 1
[P1] = 1 -4- -4

32




13 (S0Z104-0001)

(%) €))
TR3300
TR0200
TR2500
« )
1
[bi] =1 [J2] = 5
[P1] = 1 -4- -2

33




14 (SQ092-0001)

30m2 t=10mm
D) (D)
TR0200
TR2500
)
TT0035
1 30m2

| NSy R ]

- 22




15

(

(SQ155C-0005)

1.4 3.0m

(13) 200t

2.35

)

m2

()

Q)

TT0476

TT0431

TT0420

TRO200

TRO100

TR1400

TR2500

35




15 (5Q155C-0005)
(13) 200t m2
( 1.4 3.0m . 2.35 )
() €)
TT9109
34 TT7022
TT0002
C )
[ 1
[J2] = 30.000 mm [ zmm] [J1] =3 1.4m .0m
[A1] = 11 (13) [J4] = 1 PK-4
[yll] =2 As ( ) As 200t / [y2] =1 As )
[P1] = 1 -1- -2,8

36




16

(

(SQ155C-0006)

)1
1.4 3.0m

40mm

2.35)

(13) 200t

m2

()

Q)

TT0476

TT0431

TT0420

TRO200

TRO100

TR1400

TR2500

37




16 (SQ155C-0006)

( )1 40mm (13) 200t
( 1.4 3.0m . 2.35)
() €)
TT9109
34 TT7022
TT0002
C )
[ 1
[J2] = 40.000 mm [ zmm] [J1] =3 1.4m 3.0m
[A1] = 11 (13) [94] = 3 PK-3
[yll] =2 As ( ) As 200t / [y2] =1 As ( )
[P1] = 1 -1- -2,8

38



